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1. In the system of equations | 4x + 3y = 8 the value of x is:
X+ y=2
a. 2 b. -1 c. -2 d. 0 e. %.

2. A nickel, penny, quarter. amd a silver dollar will be arranged in a row. In how
many ways can this be done?

a. 131 b, 12 c. 4 d. 1 e, 24

3. The graph of x - 2 > 3, Domain = {Integers}, is:

a. & > b, =g c. f G e e Y
5 -5 L] ] 7

d. 4+—o+—o—¢-—0o e. «——p B |
4 5 & 7 8 2 3 a4

0 1

4. If the sum of three times a number and -5 is multiplied by 6, the answer is 42.
Find the number,

a. -4 b. 2% c. 8 d. 4 e. 24

5. Simplify: 525 - /20 |
a. 10 - 2/15 b. 5 c. 0 d. 5-2/15 e, 5

6. The equation of the line passing through the points (-3,2) and (0,-2) is:

a.y=%x-2 b.y=%x—2 c.y=—§x—2
d.ym—%x—z e.y=~%x+2

7. Simplify: 3£%;;;9gl
a. X +y b. ;JEL; c. 1 d. EE%FX e. ;?%;

8. let S ={1,2,3,4,5,6,7,8,9,10}. What is the probability that the number
selected from this set is at least 4?

L1

7 3
a. 6 b. £ c. 0 d. 1 e.
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9.

10.

i1.

12.

13.

14,

15.

16.

Let & be a binary operation over the set of positive integers such that
a@b=2ab*. Find a © (a © b).
a. 4a’p* b. 8a'h* c. a° + ab d. 2ab e. 4a°h°

Evaluate: -{(37%) « -(-3)° . 37

1 1
a. 18 b. 77 c. ~27 d. 0 e. 57
Expand: (3x - 2)°
a. 27x° - 54x° + 36x - 8 b. 27x° - 8 c. 27x> + B4x® + 36x - 8

d. 27x° + 54x* - 36x - 8 e. 27x° + 8

How many Titers of a 65% acid solution should be added to 35 liters of a 12%
acid solution to produce a 15% acid solution?

-a. 1.2 b, 12 c. 2.4 d. 2.1 e, 2

The distance between the points (-2,3) and (4,5) is:

a. 22 b. 8 c. 2/11 d. 2/10 e. 4

a

a. 29 b. 29 c. 3 d. y21 e. 21

The sum of three consecutive even integers is 174. The smallest of the three
integers is:

a. 58 b. 60 c. 54 d. 56 e. 59
Which equation represents the graph of the parabola? e A 11 D
: Y A .Y _—
i i Y
3.y=X2+9 b,y:—.xa-g . ‘,I‘.[k:“‘ R
IO S B | )
c.y=9-x d. y = X + 9x R SR ) e L e
S
0. y= X -9 =
y X ‘l"'f . &_______.,_,_
-2 - TS S —
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17. Solve for a in terms of g: ga® - g%a = ¢°
. 2 2
a. a=x£ b. a=1zg c. a=£miili d. a=gﬁﬁi§ e. o
g 2 2

18. Solve for x: 2{3x - 6] =6

a. 3 only b, 1 or3 c. -1 only d. -3 or0 e. lor o0
19. The equation of the line with slope -3 and passing through the point (-2,4) is:

a. ¥y = -3x 4+ 4 b. y = -3x ~ 10 c. y=-3x -2

d. y=-3x+2 e, y=3x+2
20. A customer received a 24% discount on the new stereo yet still had to pay $912.

21.

What was the original price of the stereo?
a. $3800 b. $888 c. $1200 d. $836 e. $1888

According to the chart below, how far (in miles) is it from home to Knoxville?

Trip from Home to Knoxville

(185)¢ - ~ = - - - - - - o - - . Knoxville

gas station

Distances from Nashville to Knoxville (in miles)
bt
[

80 o
60 4
40
§ Home
20 4+
} { f } i { Time (from home)
7am 8am O9am t0am
a. 185 mi b. 150 mi c. 180 mi d. 65 mi e. 155 mi

-3 -
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: R T 7 5
Solve for a: == T g 4 5
Y i 213 i 1
a 5 b. ¥ o 7§ d. no solution e, 3
Factor completely: a° - {(a + b)*

23.

24.

e8,

26.

27.

28,

a. (2 - b)(a + b) b. (a - 2b)(a + 2b) ¢. (a - b)(a - b)
d. -b(2a + b) e. b(a + b)

The domain of the function y = " % i is:

a. A1l real numbers b, {x|x # 2} ¢, {x|x =# -1}

d. {x|x ¢ 0} g, {xjx » 1}

Let f(x) = g + X% and let g(x) = x*. Find f(g{~4)).

2L oL _a 1 .3
a. e b. 15 c. G d. 7 &. T3

A child has $8‘50 in quarters and dimes. The child has 15 more dimes than
quarters. How many guarters does the chiid have?

a. 5 k. 20 . 10 d. 35 e. 2

Find the next term in this sequence: 8, 11, 18, 29, 44

a. 62 Bb. 59 ¢. 63 d. 6l e. 60
The shaded area represents which of the following? y
bt I.d
23 2. ST RIEN N 10 W B T
&. Y 2 2x+-4 B, ¥ < Bx%-4 fﬁ;wkf =
NARERLEANCOIN
A 1AL doy=-3x+4 RN
A R iw\
e S
«-»-‘-mi% R

I <-«%){+ 4
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29. In the system of equations [y = 2x - 3 the value of y is:
' Ix -~y = -4,
a. -5 b. 1 c. -7 d. -3 e, -17
30. A train leaves a station and travels at 45 miles per hour. Three hours later a
second train leaves the same station and travels at 75 miles per hour. How many
hours will it take the second train to catch the first train?
a. 3 1 hours b 7~l hours c 4-1 hours d 5-l hours e. 1 4 hours
Y] 2 ) T2 "5
31, The slope of a line perpendicular to the line y= -%-x + 2 is:
_3 ] 3 2 2
a. -¢ b, 3 .z d. 3 e. 3
L _ex _4dx -1
32. Solve for x: X33 x5
5 3 17 3 17
a "'-3- b--s- C.“—a- d.-l—-y- E.T
33. The slope of the line 2y + 5x = 7 is:
2 / ) -2 -
a.'g b.'é- C. 3 d. i e 5
e 1 1
34. Simplify: (-2 5 )(2) - [6 +-(—-3 )]
a, -13 b. 13 c. -3 d. -7 e, -2
35. The length a sprinﬁ stretches varies directly as the force applied. If a force
of 7 pounds stretches a string 3 inches, how much force is necessary to stretch
the same spring 5 inches?
35 15 21 35
a. = b. 105 . = d. 3 e. 5
36. Solve for a: -yba -1 =a -3

a. a=1and a = 10 b. a = % c. a =1 d. a =10 e. a=-10and a = -1



ALGEBRA

iwémNZEEEEEE?MMWKEEEQQK?WMWEEEEERAgMwmc

37,

38.

39,

40.

What is the remainder when (2x* - 9x + 15) is divided by (x - 6)?
a. 9 b. -18 c. 18 d. 0 e. 33
Find the additive inverse of -t72,

a. -t? b, t° c. 12 d. 0 e. "?%

Write in scientific notation: 100 x 10°°

a. x 107 . X ) c. e . X ) e. I’
10 4 b, 1 107 1 10° d. 10 1078 1

If r and s are positive integers, and r < s, which one of the following
statements is false?

ry?._r
a. (;) >3 b, -r> -s c. s°>r° d. rs>r e,

hiﬁlw















